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Equal 9 step grey scaling betweeb* g,n=22.3 andL* gaw=95.9, Yoref=3.6, normalisation greyU

-

Equal 9 step grey scaling betweeb* g,n=22.3 andL* gaw=95.9, Yoref=0.9, normalisation greyU

L*0an=22.3,L*0au=59.1,L*0an=96.0,Yoan=3.6, Yoaum27-2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*tan=30.3,L*tau=59.1,L*1an~92.9, Ytan=6.3, Yau=27 .2, Yan~82.6, Gay=Ytaw: Ytan=13.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 9%5=77,9%= 71 g%= 98, g%= 97

L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr:L*a Al*a L*r Yta (L*r) V1121*a Al*a
1007 (M9 96.0 1.0 900 1.0 92.9 10 826 10 929 __
8 86.8 0.87569.6 0.76? 84.3 8.5 0.86364.6 0.876 85.1 28
751 7 776 0.75 525 0.56? 75.8 0.72749.5 0.751 77.3 -
6 68.4 0.62538.5 O.40§ 67.4 0.598337.1 0.626 69.5 79
.5 59.1 05 27.2 0.27? 59.1 8.0 0.46127.2 05 61.6 79
50 .4 49.9 0.37518.4 0.1711 51.1 76 0.33319.4 0.374 53.7 -
.3 40.7 0.25 11.7 0.09?4 43.5 0.21113.5 0.248 458 -
@2 315 012569 0.038 36.5 0.098 9.2 0.125 38.1
BT @1 223 00 36 00! 303 00 63 00 303
identical  rgb*0r ‘ rgb*'tr (rgb¥tr) 112
o~ AL*=9.2 (i=1,2,...,8) normalisation: Yiaiu=Yoau Yoai*Yoref
a R Yoaut Yoref

L*0an=22.3,L*0au=59.1,L*0an=96.0,Yoan=3.6, Yoau=27-2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*ian=24.8,*12=59.1,L*1an=95.1, Yian=4.3, %1aU=27.2, %aw=88.0,Ciay=Yiaw: Ytan=20.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%= 92, g%5= 90 g%= 99, g%= 99

L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr:L*a Al*a L*r Yta (L*r) V103 *a Al*a
1007 (D9 960 1.0 900 1.0 951 10 880 10 951 __
8 86.8 0.87569.6 0.76? 86.1 9.0 0.87168.2 0.875 86.4 8.8
751 7 77.6 0.75 525 0.56? 77.1 0.74351.7 0.751 77.6 8.8
6 68.4 0.62538.5 0.403 68.1 0.61538.1 0.625 68.8
@5 591 05 272 0273 59.1 oo 0488272 05 600 :2
50 .4 49.9 0.37518.4 0.1711 50.3 8.7 0.36218.6 0.374 51.2 8.8
.3 40.7 0.25 11.7 0.09;4 415 0.23712.2 0.249 423 8.8
@2 315 012569 0.038 33.0 0.116 7.5 0.125 33.6
BT @1 223 00 36 00 248 00 43 00 248 °O°
identical ~ rgb*Or ‘ rgb*'tr (rgb¥tr) 1/1.03
o~ AL*=9.2 (i=1,2,...,8) normalisation: Yiaiu=Yoau Yoai*Yoref
a e Yoaut Yoref

fem50-3n

fem51-3n

Equal 9 step grey scaling betweeh*ogN=22.3 andL* gan=95.9, Yoref=1.8, normalisation greyU

Equal 9 step grey scaling betweeh*ogN=22.3 andL* gaw=95.9, Yoret=90.0, normalisation greyU

L*0anm22.3,L*0a=59.1,L*0an=96.0, Yoan=3.6, Yoau=27.2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*taN=26.9,L*1au=59.1,L*taw=94.3, Ytan=5.1, Ytau=27.2, taw=86.1,Gay=Ytaw: Yian=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g'y= 99 g%= 86, g*y= 82 g%5= 98, g%=98

L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr:L*a Al*a L*tr Yta (L*tr) 106 *a AlL*a
1007 (M9 96.0 1.0 90.0 1.03 94.3 10 861 10 w43
8 868 0.87569.6 0763855 ' 0868669 0876 860
75| (07 776 075 525 0.565 76.6 0737509 0751 776
6 68.4 0.62538.5 0.403 67.8 0607378 0625 691
@5 591 05 27.2 0273 59.1 0.47827.2 0.5 606
50+ @4 499 0.375184 0171506 . 0351189 0374 521 -
@3 407 025 11.7 0094 42.2 0227126 0249 437
@2 315 012569 0.038 34.3 010981 0124 353
DT @1 23 00 36 00 269 00 51 00 269 O
identical  rgb*Or ‘ rgb*'tr (rgb*tr) 1/1.06
- AL*05=9.2 (i=1,2,....8) normalisation: Yiaiu=Yoau o Q8 0rel

YoautYoref

L*0anm22.3,L*0a=59.1,L*0an=96.0, Yoan=3.6, Yoau=27.2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*an=53.7,L*15u=59.1,L*taw=70.7, Ytan=21.7, Yiau=27 .2, Yian~41.8,CGav=Yiaw: Yian=1.9

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100
g%= 99, g'y= 99 g%=30, g'y= 23 g%5= 88, g%=74

L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YO0a YOr:L*a Al*a L*tr Yta (L*tr) V16 [*la AlL*a
1007 (M9 96.0 1.0 90.0 1.03 70.7 L0 418 10 707
8 868 0875606 0763673 __ 0799370 0869 685 _°
75| (07 776 075 525 0566 642 _ 0617381 074 663
6 68.4 0.62538.5 0.403 615 0457298 0613 641
@5 591 05 27.2 0.278 59.1 0319272 0491 621
50+ @4 499 0375184 0.171 57.2 0205251 0372 600 '
@3 407 025 11.7 0094557 0115236 0259 581 '
@2 315 012569 0.03854.5 0.047225 0.149 56.3
DT @1 23 00 36 00537 00 217 00 537 7
identical  rgb*Or ‘ rgb*'tr (rgb*tr) 116
- AL*05=9.2 (i=1,2,....8) normalisation: Yiaiu=Yoau o 2 0rer

YoautYoref

m50-7n

fem51-7n '

TUB-test chart femb5; E\C}ual 9 step grey scaling for four display reflectigrs3,6, 1,8, 0,9, 90, anc-:
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blackL* N, ciELAB=22.3,
C

M Y

N=3.6 and whitd-*\y cieLAB=95.99,Yw=90, normalisation: grey
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